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Prepare a separate notebook for [AZAZE_LiE~ND
&) and write your answers so you can practice over

and over again. Try not to write anything in this
booklet. You can enjoy the fulfillment of progress
as your notebook gets filled with answers.

ﬂulﬁlbéb’éDl)‘LF'hE’éBD—f’
BEET. EUI’T’"T;%AEHUEtHﬁkb%b
ZDOIFEY. bZ)bOJDL\'CL\éF‘lEEb‘?'\'Cﬁ@Ué
&DluU%*tﬁ%Dﬂbﬁﬂﬁbt(ﬂ.i’fb\ IXTOD

HAEL put

FECRIES > CEREERB LS [CHBTEND

HLVED

BiRTY,

Try to solve the questions you marked previously.
Mark them again if you couldn't solve them
correctly. Repeat this process until you can answer
all the marked questions correctly. Your aim should
be to be able to

answer all the
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Mark the questions you answered
wrongly
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Once you finish answering the questions, check the
answers and read the explanations well. If you still do
not understand, ask your teacher or a friend who is
good at Japanese. Make a mark next to the questions
that you answered incorrectly, or answered
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Go back to the questions yoy
answered wrongly

a firm basis of
understanding.
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Create your own workbook
by filing!

When exam day approaches, primarily review
those questions you made mistakes on
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When the JLPT exam day approaches, go back
and answer all the questions again. Imagine there
are two of you, where one explains the basis and
logic behind the answers to the other. This should
deepen your understanding and clear any points
you were wary about. After having
repeated this practice, you brain will
be filled with knowledge and you heart
be filled with confidence.
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Fﬂﬁ iE *@#’)‘Ui éﬁ% '*&i)/%ob 9. (The amount of the stars will show the difficulty)
Questions * ?JJ%& (Beginner) **g‘? ;fﬁ7 (Intermediate) %% T ;ﬁj (Advanced)
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(1) #R— . EHvwnt 2.&90w0rEHD 3 EHPVLE 4. &V ED
(2) Ao l.0e< % By =5 3.CAK B 4. LA ZH
(3) .55V 2. 660 3o =LY 4., 1=\
(4) +E l.5w 9 K 2.5%p 9 2K 3.5 2K 4. 732 /S
* B2 :BEVETIEREZDITTEESELILLE S,
(5) BEF\WE .43 \&tb 2.{5V&bL 3.{35\w&% 4. 13F\A5
(6) E#x I.CTA 2. ¥ TA 3.5 TA 4. 9ATA
*k A3 :FRIEABRANSAINGHFEE->TWS
(7)) K® | . 7ZWAY = 2. 1=\WHV = 3.88680%~ 4. 655HF
(8) &zr l.HOAET & 2.4 L & 3.HADWV 4. HALH
*k f4:ZoEHEOEMIREE-S>TWVWENT, BELTLETW,
(9) &4 l.Lw 3w 2.L&50 3.L» %W 4 . HhEZHW
(10) B4 . 0T 2.0 3.1231F 4.0
(1) $EE l.Lw S~ 2.LwHt 3.LwHitEw 4. LwI
*kk 5 EHMERZNTFEIIFHELOTAZLH S,
(12) EHEZX | . XAEB £ %) 2. IABLEZD 3.¥ALBbs<%) 4. xALLEZS
(13) #re¥ . LA 2. LABKL 3.LAtA 4. LATUA
(14) AR .00kl 2. 1A= 3.0k = 4., CA T

t

* Bl :FWLw I IABAREBEZT L) LOIHL->TWVET,

(15) FWwlwd |. &R 2.&i8 3.8A8 4. g%
(16) *x5L- | . o= 2.%%E 3.HF 4. BRE
(17) n&k-T |.d@->T 2.58-7T 3.17- T 4 .9%->T



* B2 : LLk Y EIVDARBDATATRTVELNDEES>TWVWET,

(18) L&kWedvA | .EBMS 2.BEH 3.885% 4. BH G
(19) At A | . &8s 2. %% 3.%%E 4,
20) ®F W . BW 2.5 3. &%\ 4, EHW
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Q1) bEw>S | . 3th3K 2.3 3. I 4, #R
(22) AR | . 3=~ 2. X% 3.5 4. 55\
(23) A LA -\ 2. 3. B 4. B
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(24) < %K . 1% 2. & E 3.89% 4. REK
(25) 35T |.t1- T 2.8- T 3.F-T 4. 5%-57T
*kk 5  FAOEIFEIEY) SNFTADNST-VWEITHIIH S,
(26) €= > | . G3iE 2. fEiE 3. &3 4, FRiE
Q27 3 FA | . ffik 2. #5 3.:AFk 4 3K R
(28) fa-7=\51395 |.Z2%HA 2. Bl 3.BE®ithh 4, EFihh
a (A Lok . (/34 -
fIRE 3 IKANBZDIZRHLLIVENDE, | + 23 - 4H95—DZ
* (29) 2% HIZIF< e, a>YE=4'H 3,
|.XIFT 2.b5T 3.T95T 4.5Y T
* (30) BARDERYIZIZ, F/2 FEA.
. 2.%Y 3.0 4 . 4F=
Kk (31) mBMEY WAL S RL ®
l.rE-7= 2. <K 5 7= 3.4 4, N> 1=
*%x (32) CoOMEEL Ald, BTHLAAZLTLEI Y,
| . A9 % 2. AT % 3.7AT 3 4. 3BT 5
khkk (33) ZABLIRETERAT L ELRHY LA,

1LFITILLT 2,220 LT 3. BbEELCT 4. LATHRLT
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x  (34) MAIBerBY T,

| ﬁﬂﬁt: BENYLVWTT 2.§f¥§t: BENSZNTT
3. BBV 2T 4 B IcBEN N> TVET

* (35) RIEAEAL &£ 53T,

| RIEAAE C TEABNTT 2. RIZHEANE  THAENTT
3. RIFHABRTRATT 4. RIEAS IS THWTT

*k  (36) SERARBRY ZI bR\,
| AL RS 2. WIS E3 S
3.MIdEEZH7 4 AEELRVZ IR

*k (37) BRIAEARYEZOABHIGFEL2»RVA LRV,

. COREENFESLLES 2. 2OMEENMFELCRRVERS
B.ZDREENFEICRBERESD 4. ZOMREBEHNIFEITRS>TVWRWVWERS

*kk (38) FEih-riEWwIbom, EAekIEFE AEN,
| .&HICR >0 6, FARIEF LT 2. %Il 25, BARRIE F AR
3.7k snI, EABRIEF AFEW 4. &\ ok, BARRIZE AEY

2% WA W ok b4
‘ SR ROX D EANBDICBHEVEDE, | 23455 —2i5URTN,

* (39) A:BABRIIARATT 4, AE LETH,

B:#K HhE  2T3o8YTT.
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v
* (40) CoELEEZMABFTIC XV,
| BATH>T 2. BABVT
3. BALWT 4. BATLET
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| . EBEHEICEICEVWE LE 2. ZBHEICEICEITLLES
3. EHICEICAVY»DBLNEEA 4. BEICHICEVWELRATLE
*k  (42) BhwdEEL W I REY AL .
l.LTBLIETE-SE 2. LTBIFIELD - 1=
3.LTEZH e lLinr-7- 4. Lo LE-T=
Ahkk (43) RENHLEOBIIBXAONTWEAF—LlL. B FEDT—ILE  Busounr,
. IZCodHIC 2.5 7T
3.2950C°T 4. = 5HLTIC

G:a;%ge ROXD  *k  IAZBHLVDLOE.

* (44) A B> KREIZIT-TL 5L,

B:%95, nl+ 5 * ?
. <N W 2. 9%Y 1< 3.4UEXB-TET 4.1 5
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.35 2. €B4% L 3.1#842 5% 4. Znh bt

*k  (46) S LEHEIC * HELY BTV,
I.L7= 2.<{hlLTF3 3.1F95 % 43X D

*k (47) #ERYE-—ILTEEI & * LEF- 7,
I .EHhNT 2.1ZH0 DAl 3.9 V% 4 B 5TV

Kkk (48) EHANZFARATIERVWEW) Z X, Hekp * T3 L4,
I.\WHEITA 2. D 3.7 4.0
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(1) 3 (2) 4 (3) 2 (4) 1 (5)2 (6) 4 (7) 3

FREL.BE o) | ()2 10) 4 () 3 (2 1 (3) 3 (14) 2

Az

M| #R— A0 4 %\ EIE $E 72, The country with the world's largest population is China.

gt'l‘é

RI2 :BE\VViE TIER%E 21T T &S LF L & J, Drive with care on dark roads.

B3 :flE KB /XA 70 RFF %> T\ 5, Ihave alicense for large motorcycles.
B4 : 2 EHF o BfF »RME->TVWBNDT, 8IE L TL I\, The date on this document is incorrect, so
please fix it.

5 : EMER OFXIT HE 20T AKX °%H %, Direct-from-farmers vegetables are popular because they
are fresh.

(15) 2 (16) 3 (17) I (18 4 (19) 2 (20) 3 (21) |
(22) 4 (23) 2 (24) 3 (25) 3 (26) 4 (27) I (28) 2

fIRE 2. iR

ul

i3
f | A BAREHZEITE > T\ F T, 1goto Japanese class every week.
B2 : BRRIREETREVLNDEE > TWE T, Ibuy safe and cheap food produce.
P13 wREEOEEMV T, TIORBIRYHA 2O EROL S IR,

After hearing about the earth's environment, I started taking interest in sorting trash and recycling.

R4 : $9R %8> TIE\V T4\, Promises should not be broken.
M5 : FADEILFE AN A ICH S, My country is in the tropics near the equator.

RIRE3.MZ (29) 4 (30) I (31) 3 (32) 3 (33) 2

i

(29) CoOMEREEY THIZITC Y, A E=%'%H %, There is a convenience store if you descend these
flights of stairs and go to your right.

sgé

. XIFT lower

2.7 fall

3.3¥H0-5T go lower fq
4.4 7T descend



(30) BEAROERYIZIEL.

FERNFEE A, Icannot get used to Japanese food yet.

l.2n get used to
2.%Y do

3.L do

4. .43 = I like

l.xE -7
2. >/
S T AT

4 ~- 7=

(31) mBMREY K\ 7=HH°EL 5 X < X A7, The rain that fell for four days straight finally stopped.

halted el

perished
stopped

decreased

(32) COMEE*FIRATIAIE. $THLAAZEZLTLEIY,

Requesting those wi

| . #%RAY %
AERT 5
HAY 5
=

& w N

shing to use this library to apply.
personal use

function

use

test use

(33) CARIRETBHATEZ-HLLT. BLRHY A,

Making such a mistake was careless, and I apologize.

.¥9F3L<KT
2. %->H0LKT
3. 607 LLKT
4.2 ATHRLT

e 4. & (34)

arrogant
careless
a hassle

irredeemable

4 (35) 3 (36) I (37) 2 (38) 3

FE
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(34) M cHE0'HY 2T, Thereis money in the wallet.

l. ,é;.fh 15 IZBEEN DL WTT There is little money in the wallet

2 BB BAENEVTT There is a lot of money in the wallet
3.HBI BRIV T Money is neeled in the wallet

4. éjhgﬁ IcBEeA->TWE T There is money inside the wallet



(35) RIEAEH°C &£ 33 TF . My brother has strong physique.

| RIGHHAE L TESBVTT
2. RIGHANE < TEHENTT
3. RIEHEAEL TR TT
4. RISHOHEL TBVTT

My brother is tall with a large physique
My brother is short with a small physique
My brother is strong and healthy

My brother is thin and weak

.
(36) 5BIEMIEEY £ 5% \VWTT, Itdoesn't seem to rain today.
— | . RIS RWESH It will probably not rain
2.MIIRES5%5 It will probably rain
3.WIIEBZH It is said that it will rain
4. MEESLWE I It is said that it will not rain

(37) BRFIAEARLBIEIZOLESENIFEI LR VAL ®» RV, It seems like Tanaka-san actually doesn't

like this job.
. 2OMEENFELLRS
2. 2DMAENMFELRRVERS
3.2DHEENFEICRDERS

I think [Tanaka-san actually] likes this job
I don't think [Tanaka-san actually] likes this job

I think [Tanaka-san] will [actually] come to likes this job

4. ZOMREENFIICHL > TWARWYE RS 1 don't think [Tanaka-san] has [actually] come to like

this job

(38) ‘IR ->FrEWH b, AL F 73\, Even though it is spring, mornings and nights are still

cold.

| . FICR > h 5, BARRITE BN
2. 75> 235, BARITIELAEN
3. &I > DI, BBRITE LEN
4. F |55, BRI EALAED

FIRES. R (39) 3 (40) 3 (41)

Because it is spring, mornings and nights are still cold.
Having become spring, mornings and nights are still cold.
Although it is spring, mornings and nights are still cold.

When spring comes, mornings and nights will still be cold.

I (42) 2 (43) 4

&
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(39) A :BREIEASETTR. T% LETh,

B:RKrsrABEr st 2o Y T,

A : Tomorrow is a holiday, isn't it? What will you do?

B : I'm thinking of cleaning and doing the laundry.
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(40) 2

(41)

(42) &

(43)

e
T X, Ty -3, T2 TTH-TH BENE2ODZ L EDOR <“T§=.’Z§T“’d’7b\‘\

< > > N
BIC T~%72, ARB2UHTEZOWE T - Xy EUTT,
"yatya" "mo+mo" "tokat+toka'" and "demo+demo' are all conjunctive particles ('and') that connect two

words, but only ""toka+toka" can be used when it is preceeded with "-**suru".

(0) 1‘?!;]3#‘ ¥ ﬁ‘zﬁE/E ¥H0%9%52%YTF, I'mthinking of cleaning and doing the laundry.
() REXHEBRET 256 TT.

(x) RBLEELET2o0YTT,

(X) RETLHETLET 25869 T,

31*

2L bLE
NEEETHBFE TIC ;ff,/u E'WT L T\, Please have this article read by tomorrow.

\_0)3(0)5”*‘&* I O)uﬂ$iﬂ}§5i’(l:ﬁ.k’(-§1ﬁb’(<f“‘\:‘J TIH B, “-Eﬁ” 0)73“*0) —
TH <, EE—)T: a;ukTio(J VNN TTF, T~THL, li’u\n%T X T~¥< 1250 T rn/l..A/
<) ¥ R]UET,

The meaning of this sentence is "Please prepare and read this article by tomorrow" " (verb) ---te oku
(have something done) ' is how to show preparation of something, so the phrase using that form, "yonde
oku (have something read) ," is a good choice. In conversation, "-**te oku' gets shortened to "**-toku,"
so the answer "yondoku" is correct.

<é§l:%ﬁ"(\,‘f:f:“\,‘f:?Sﬁ‘l‘)“"(\ %Wltéﬁl:éb‘i L 7z, It was thanks to you giving me a ride that I
was able to catch the train.
b#HTJM“wV&%”%%%ﬁﬁfT'Ei%ﬁ?%boFJyzmvw#%ur A
F'iknotJ T3, rF‘ilk WEEAT LtJ Li,w» ffn%rmw, TATY, F1. r%ﬁ‘(wtt
W rBENILEE-TVWENT. rFEJt-n ITLLI, rf'ﬁhn INBHLNEEA, t;tﬁz_it*h

"-.-Okage de (thanks to--*) " is used in reference to a positive outcome. The positive outcome of "being
given a ride" was "catching the train." "Mani aimasen-deshita (I was unable to catch the train) " is a
negative outcome, so it is a wrong choice. ""Mani au deshou (I will probably be able to catch the train) "
and "mani au kamo shiremasen (I might be able to catch the train) " are both in the future tense, but
the first half of the sentence, '"nosete itadaita (I was given a ride) " shows that this happened in the past,
so these two options are also wrong.

AL 'l‘!'tu WIXRIEYAEEZ LTEFIEELA 57, T can't remember. It really would have been better
if I had taken notes.

Mk‘ﬁ:”e‘fuu tn—)’fl—)’(t\iiﬂa X%b %m:tm éﬁifd’b\‘ AERRVHS Mwﬂﬁ
Fthi, “X%b\%—)tb\,\.\u\&ﬁémtd’ c.u\t\\m'( F~L;tJ:7§\—)t BNWTT, T~ L -
=1 &, “~LEEFIDDELED>F=nDIC L1 Yo% ’ﬁ@ﬂ%%if{bi?’

The person is troubled that he "can't remember."If he had notes, it would be easy to remember, but he
doesn't, so he can't remember. What he is trying to say is "Memo ga attara, omoidaseru-noni (If I had
notes, I would have been able to remember) ," so the closest form of "---ba yokatta (it would have been
better if--) ." This expresses a notion of regret akin to "I should have done so, but I didn't."

3A0m¥uomtB?i%h?ka%—Au\u¥%ﬁm:—wi*obwt%w#7wto
Team A, which had been held to a score of 0 in the first half, gained momentum in the second half,



encouraged by a teammate's goal.

AF— AuaAmm+um%ﬁa ZMT*&ﬁkatoT%1#mﬂb$1*ibto%nm
rﬂﬂ'di (AF-— M)z%%) o)j—ll/J z‘;\b—)r-b\b'c %@:—)bb‘-f-v /Zt-f’—;‘(ﬂz’; d:‘(ﬂir—
DT “ADZERH->T. LWL BAEET 2" Y WIERD T~ % >hFI0, 2B0ET,

Team A could not score any points in the first half, but gained momentum in the second half. That is

because there was a goal by a teammate, and that goal turned into a chance for the team to be energized.

The correct choice here is "+--wo kikkake ni(encouraged by ---," which means "A new thing [B] is
o started, encouraged by the previous [A] ."
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RIREG. i#% (44) 3 (45) 3 (46) 4 (47) 3 (48)

Az

(44) A B> Y REIIT-TL B,
B: %9, 5L s BYICHAEZE->TEFTINEW?
A : T'll just be going to the book store.

s&

B : Okay. Can you buy some milk on the way back if you're going out?

(45) =2 —RT. RFF LD EBEE NS - A3 35 ¥E-> T\,

It was said on the news that trainees from Vietnam are thought to increase even more soon.

(46) P LAREIC LAMED 1IN <hLTES BELY BRT .,

A map made simpler is easier to see than a map that is too detailed

(47) ZEYE—ILTEBI L BTV Vv YEIINDAICEDLNT LE- T,

The shirt I was thinking of buying at the bargain sale was bought by another person.

(48) WA ZTARATIREBZVWEWI Z IR, HRENVEEFA THEL O BT TT L4,

You should know best that he is not that sort of person.
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